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(b) X = 1.82 B1 1.1 | BC
sd = 1.526 to 1.53 B1 1.1 | BC
Accept 1.5224/1.52
[2]
(c) No evidence to suggest one or both samples B1 24 | oe....
flawed, as different random samples may lead to Different samples of workers lead to
different results different results so no
[1]
(d) Ali’s conclusion is incorrect. 120 workers aged Bl 1.2 | Oe compare 144 with 120 and reason
60 or less worked from home, and this is about [1] Incorrect as 90% is less than 63 years

75% of 159, not 90%.

40/160 =25% greater than 60






